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ECONOMICS - 11
3Tl - 11

1.  Whichaverageisaffected mostby extreme 1. % H1 A1ed =0 el § yenfea 2ram &2
observations ?

(A) Mode (A) =g
(B) Median (B) Wz
(C) Arithmetic Mean (C) THR AT
(D) Geometric Mean (D) TUIR He
2.  Monetary policy is determined by - 2. wifas Hifa o1 faufor e s &
(A) RBI (A) T §% a1tw e g
(B) MPC (B) Wifeer uiferst +2t gm0
(C) Ministry of Finance (C) Tom oo™ g1
(D) All the above (D) S9re 94t

3.  Which is the quantitative method of credit 3. =497 8 g e & s

control from the following ? fafa g2

(i) Bank Rate () ¥F

(ii) Open market operations (i) TG AR I G
(iii) Variable Reserve Ratio (i) oftad=siea fod EERIC]
(iv) Hire-Purchase Finance Regulation (iv) Toraran =i fom fama
Code : B T

(A) (@), (i), (i), (iv) (A) (i), Gii), (i), (iv)

(B) (1), (id), (iii) (B) (), (ii). (iii)

(C) (i) and (iii) (©) (i) M (i)

(D) (i) and (iii) (D) (i) 3 (i)
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According to Tendulkar Committee’s
report, poverty rate in India is :

(A) 30.2 percent

(B) 38.5 percent

(C) 37.2 percent

(D) 28.7 percent

If tastes are identical between two
then
advantage is determined by :

countries, the comparative
(A) Supply conditions only.

(B) Demand conditions only.

(C) Supply and demand conditions.
(D) None of the above

Assertion :

‘IS” and ‘LM’ function is integrated

general equilibrium model between

Commodity and Money Markets.

Reason :

‘IS’ is equilibrium between Investment

and Saving which is Commodity market

and ‘LM’ is equilibrium between demand

for money (L) and Supply of money (M)

and it is money market.

(A) It is absolute interpretation of
Commodity and Money market
equilibrium through interest rate
and income '

(B) Partial interpretation

(C) Long-run interpretation

(D) No interpretation of Commodity
and Money market equilibrium

4.

dge w9 #t U % oEr, 9 o
Tl &7 2T % :

(A) 30.2 yfaem

(B) 38.5 yfawm

(C) 37.2 ufdqerd

(D) 28.7 wfavd

gfg <t 29 & o9 &9 F 9uH € q9
Ao s s fsior -

(A) aet i 1 vl gr g 2
(B) aw B w1 &l g g ¥
(C) myfd ws win =t vl g drn #
(D) 9§ | #E T8

Ifyera :
‘IS’ AR LM’ %o a5 TS Y81 AW ¥ o
UHIFHd A WIe HiEd B

ST ;

‘IS’ 9 wE s F W wm @ e
SR & 317 LM’ 981 %1 57 (L) ue 521 #i
et (M) HE1 TR F == %1 Gged

(A) ¥ 9% TSR U 9g1 9 % 9 &
o9 =S ® W U G F e o
quf SR § |

(B) Aifer =ame

(C) reierTeit =

(D) =& 9TSR U Hifgeh 99K HI a0
T AT T ¢ |
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In the case of a linear demand curve, if
one slides down from left to right, the
elasticity of demand for the commodity

(A) rises
(B) falls
(C) is zero

(D) is infinity

Meaning of “Pump-Priming” is :

(A) Action taken to stimulate an
economy during recession through
government spending

(B) Excess expenditure of government
during boom in economy

(C) Keeping the amount of expenditure
constant

(D) None of these

The locus of general equilibrium points of
exchange in a two-individual
two-commodity model is called :

(A) Consumption Contract Curve
(B) Production Contract Curve
(C) Social Welfare Function

(D) Transformation Curve

Y =i o ¥ fowa 8 3 B T #
wim and | Tifed F S e §, 6 =9 s9End
T 3 T HT YT g

(A) TE@T
(B) frar®
<€) A

(D) 3=

ey 1 A9 wE R

(A) sAeforaed § Hel % WY W Wieded
w4 ¥ a2 fFa w7 T 9= =1

(B) arefemaman H TSt & wwa ik w0
H T 9 aren W =g

(C) =59 = {1 Fi feew vE

(D) ¥ & = &

fafa & |mr gramEsn #i1 fagell & oy
<1 =afaa & 754 TSfa # W ¥, A Fed |

(A) 3usr Hfas =56
(B) SeurH wHfewr o
(C) IS e Her
(D) fads a%
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10. Identify the correct statement/s : 10. H& FUA/FUA F1 A BT
(a) Share of primary sector in India’s (a) @ 1950-51 F foTQ WRa ¥ e W
GDP for the year 1950-51 was 55%. I (GDP) © wiafis &% =1 55%
T o1 |
(b) Share of primary sector in India’s (b) = 2015-16 F foIT WA & FFHel W]
GDP for the year 2015-16 was 28%. IR (GDP)E WafHe: &3 128% Y
LIl
(c) Share of secondary sector in India’s (c) 942015-16 % ToTT WA & FHhel =g
GDP for the year 2015-16 was 45%. 3G (GDP) ¥ fgedta &% %1 45% WM
U
Code : E T8
(A) (a) only (A) A (a)
(B) (a) and (b) (B) (a) W (b)
(€) (a) and (c) (©) (a) W (o)
(D) (b) and (c) (D) (b) W (c)
11. As per new international poverty line of 11. $1.25 9fa feq & 799 siaidy e @
$1.25 per day, the number of poor people F 3TER, YA § T @l B g €
in India is :
(A) 456 million (A) 456 fafera=
(B) 426 million (B) 426 fufermw
(C) 485.2 million (C) 485.2 fafeam
(D) None of the above (D) ITE | | FIE TR
SPACE FOR ROUGH WORK / T% & & ford g
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12. Arrange the region of the world in 12 WA ¥ ¥ 2016-17 % At & AR fova

decreasing order as per India’s exports in ¥ fafim &5 1 92d % § sxafted Hit |
2016-17.
(a) European Union Countries (a) TG F9 F W
(b) African Countries (b) T % W
(c) American Groups (c) T TE % <9
(d) Asian Countries (d) TR <
Code : &He :
(A) (). (a), (), (d) (A) (@) @), (b) (d)
(B) (d), (o), (a), (b) (B) (d), () (@) (b)
(©) (@), (b) (c). (d) . ©) (&) (b), () (d)
(D) (o). (d). (@) (b) (D) () (). (a), (b)
13. Ifa=3, r=2, then 9" term of a G.P. is : 13. e a=3,r=2% 7@ 39 G.P. J@a % 94
g B :
(A) 2.3n-1 (A) 2301
(B) 32 : (B} 3.2n
€} s (£)- "3 pn¥d
(D) .3.2071 (D) 320!

14. Which one is not included in Budget  14. aee =e d wftafad 798 7

deficit ?

(A) Revenue deficit (A) TSE HET

(B) Capital Budget deficit (B) ST =W HRT

(C) Current Account deficit (C) ie] Giel =T

(D) Interest payment on public debt (D) WESHE 01 9 S YA
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15. Match the following : 15. gafem =ifsm :

Budget 2019-20 S 2019-20
(a) Capital Expenditure (i) 1.6% of (a) Ysii == (i) 1.6% Hhel =G
GDP Eiic
(b) Fiscal Deficit (i) 3.13% of (b) TTHMEER (i) 3.13% Tewe W
GDP 3
() Interest Payment (iii) 3.3% of (c) AT T (i) 3.3% HFHT W
GDP I
(d) Shrink Tax Collection (iv) 0.3% of (d) 2018-19 8 F1  (iv) 0.3% Fahel W
from 2018-19 GDP e § ER
Code : L TR
(@ (b) () (d) @ () (o (d)
(Aa) @ (@) @@ @) (A) (@) () @) (v)
(B) @@ @) @ (iv) (B) @) @) (@) (i)
(©) @ @) Gv) (@) © @ @) (@v) (i)
(D) () @) (i) (v) O) @ @) (i) ()
16. Which Statement is correct about 16. HiHig IuEm afe & F99 § &9 @ wuw
Marginal Propensity to Consume ? & g?
(a) M.P.C.is the rate of change in APC. (a) HIW. Awa 3TEM wofe # gfiads
TEI '
(b) M.P.C. is always positive. (b) HHE 39 wafa e Y Bt
?
() M.P.C. is more than unit. (c) Hiwia svEm wofa s @ sifus et
iy
(d) M.P.C. of poor people is generally (d) T wr T i 3T vafa S
high. Il &
Code : &
(A) (@) (b), (), (d) (A) (@) (b), (), (d)
(B) (a). (b), (c) (B) (@), (b), (c)
(©) (@) (c). (d) (€ @ () (d)
(D) (@), (b), (d) (D) (@), (b), (d)
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17.

18.

19.

The R2 of a regression of Y on X is equal
to zero indicates that :

(A) XandY are unrelated
(B) XandY are partially related
(C) XandY are linearly unrelated

(D) Uncertain relation

For the demand function Q4=10-P and
supply function Q5=3P-2, find
equilibrium price (P) and quantity Q)

(A) P=3,Q=7
(B) P=7, Q=3
(C) P=2,Q=8

(D) P=8, Q=2

The Service Area Approach (SAA) was

implemented in India through

(A) IRDP
(B) Lead Bank Scheme

(C) Mahatma Gandhi National Rural
Employment Guarantee Scheme

(D) NABARD

17.

18.

19.

Y W X % weemd # R2 Y 6 SO H
e §

(A) X @ity sravafea &

(B) X siRY sifers w9 & geted @
(€ X &Ry g wa § srafd &
(D) @ffrea aw &

Qd=10—P Wi Hed qe1 Q5=3P—2 Ifd
e % ford 9re ged (P) 991 A (Q) Fd
Hifsr :

(A) P=3, Q=7

(B) P=7 Q=3

(C) P=2,Q=8

(D) P=8, Q=2

g § wfda ot swia (SAA) F1
g1 e fmar

(A) STE.ARELH. (IRDP)
(B) @i S WA

(C) W T T A ISR TRE
RIEEl

(D) &S (NABARD)

SPACE FOR ROUGH WORK / T% &1 & o g
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20. The Simple Phillips Curve was attacked ~ 20. & frfear o 1 seiraD %1 W Hits
as suffering from : 9% | difeq o .
(A) Backward Looking expectations (A) Trza fegd =it =g
(B) Money Illusion (B) He&T9H
(C) Lack of Sufficient evidence (C) w4 Fad 1 A
(D) Rational Expectations (D) THHETE arden
21. In his empirical test of comparative  21. T&EFIHF oY & FeE F e § dga
advantage, Wassily Leontief found that : ferarie 3 arn fF
(A) U.S. exports are capital-intensive (A) smfE! frafa, smm 1 gom § §H
relative to U.S. imports. TEAR |
(B) U.S. imports are labour-intensive (B) smfEt smam, frafa &1 g A gm
relative to U.S. exports. TRAR |
(€) U.S. exports are labour-intensive (C) rafnt frafa, smm o § g9
relative to U.S. imports. TEAE
(D) None of the above (D) 39§ § FE e
22. Taxable capacity is a function of : 22. T 3F &9 TH FeH ¥ :
(A) Income distribution (A) &4 faaeo &1
(B) Size of National Income (B) ST M & HR H
(C) Size of Population (C) “HHEN F HAHR
(D) All of the above (D) 39dEd |t
23.  Which of the following organizations  23. fr=fafias § & #7 @1 gmeq ywam 9w §
provide financial support to correct the g4 HE=eA o [uR 7 fasda weEa wem
imbalances in Balance of Payments ? FAE?
(A) World Bank (A) fawa 9=
(B) IMF (B) SIaUa Ha1 Hy
(C) GATT (C) =2
(D) WTO (D) fava =mR gma+
SPACE FOR ROUGH WORK / T% &4 & o =g
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24,

25.

What can you say about the following
statements ?

(i) Rostow coined the term

‘demonstration effect’.

(i) Mydral put forward the theory of
social dualism.

Code :

(A) Both statement (i) and (ii) are
correct.

(B) Statement (i) is correct and
statement (ii) is incorrect.

(C) Statement (i) is incorrect and
statement (ii) is correct.

(D) Both statement (i) and statement (ii)

are incorrect.

Relatively high real interest rates in United
States tend to :

(A) decrease the foreign demand for
dollars, causing the dollar to
depreciate.

(B) decrease the foreign demand for
dollars, causing the dollar to

appreciate.

(C) increase the foreign demand for
dollars, causing the dollar to

depreciate.

(D) increase the foreign demand for
dollars, causing the dollar to

appreciate.

24,

25.

frefafiea 9=l F a1 9§ 379 341 FE Thd
g2

() A YL gHE R H S
e

aIgd 3 gmfas §aae fagia =
wETaT R

FMA (i) AR FYF (i) IH T3 T

(B) YA (i) HA ¢ 31X FU (ii) THH T

(C) FUA (i) 379 ¥ 3R FF (ii) TH T

(D) A (i) AT w2 (ii) 1 9 €

Ife it | A §9 | A FT L qgdl
gl

(A) =fer =i faveht wim & Ft 2nft fored
Zfer FHHSIR 2 |

eier =t fagsft ain & wdt 2nft foed
STeR HeEd & |

(B)

eier =t fagsit =i & gfg &nft foed
S FHHSAR B |

(©)

fer =t fageht o & gfy anft o
Bfer WerEd 2|

(D)

SPACE FOR ROUGH WORK / T% &4 & o g
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26. What can you say about the following  26.

Statements ?

(@)

®)

A monopolist shall always make
huge profits.

A monopolist is the price maker.

Code :

(A)

(B)

(©)

(D)

Statement (a) is wrong and
Statement (b) is correct.

Statement (a) is correct and
Statement (b) is wrong.

Both Statement (a) and Statement
(b) are correct.

Both Statement (a) and Statement
(b) are wrong.

9 fau U oA % 9N § o I w2
(a) U TSIt T 9o &y o #

(b) UF wwfasrt =2 fufe 2
kT

(A) FU (a) ToW T 3R FUT (b) T T
(B) M (a) WEl ¥ 3R FYA (b) Terd £ |
(C) = FoH (a) 3R (b) weF &1

(D) ¥l A (a) 3R (b) Terd E)

27. Which of the following is not a merit 27, &8 & 31 &1 ‘3fiz T2’ 7@ &2
good ?
(A) Postal services (A) = Fand
(B) Telecom services (B) TLHAR Hamd
(C) Agricultural products (C) =FHfF 3R
(D) Railways (D) YEEs
28. Expenditure on unemployment and  28. US4 o w frm mag .
education is :
(A) Transfer expenditure (A) EwIE =g
(B) Administrative expenditure - (B) wemEfTE =
(C) Necessary expenditure (C) s =9
(D) Economic expenditure (D) anfés =13
SPACE FOR ROUGH WORK / T% &1 & ford s
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29. For a stable competitive equilibrium, 29, TR EuicHE TTAEE % a9 | = =

which of the following conditions is FH-u e @t 87

true ?

(A) MR=MC (A) MR=MC

(B) MR >MC (B) MR >MC

(C) MR=MC, and MC must intersect (€) MR=MC, 3t MC = & MR 1
MR from below. yfae=se T 2|

(D) MR=MC and MC must intersect (D) MR=MC 3T MC 7 § MR F
MR from above. wfeede Ha €|

30. The Kisan credit cards were introduced 30. fewEEl =i o @ HO g
in __________ to facilitate mainly T w0 % fou feom ez &€ &1
credit to farmers. a9 § yRY fHa T3

(A) 1990-91, long term (A) < sEfy, 199091

(B) 1990-91, short term (B) g 3&fH, 1990-91

(C) 1998-99, short term (C) oY =Y, 1998-99

(D) 1998-99, long term (D) < srEfy, 1998-99

31. According to the Census 2011, which of ~ 31. STl 2011 ¥ e frafafes 5 4

the following state has the lowest child FH A T F T U Rl S A |«
sex ratio both in rural and urban area ? fefm e feas €2

(A) Uttar Pradesh (A) SRR

(B) Kerala (B) e

(C) Jammu and Kashmir (C) g U8 H¥ER

(D) Haryana (D)

SPACE FOR ROUGH WORK / T &4 & fora sme
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32. The probability of rejecting a null  32. TH T Y RN F1 FAHR FH F
hypothesis when it is true is called : WITashal i el ST & :
(A) Type I Error (A) =mwIFfe
(B) Type II Error (B) =9I Ffe
(C) Level of significance (C) ardshan &1 =R
(D) Inferential statistics (D) IS wiferst
33. Statement : The current A/c balance is ~ 33. i : YRa § =] @1 F1 912 #4 @
declining in India because invisible (net) T § it 2012-13 ¥ 2016-17 #1 rafy §
is increasing during 2012-13 to 2016-17. 31gvd fays Wil =g @ 1
Reason : Invisible(net) is increasing, so WA : 3Ry fayg wiital =g @ & 39
current A/c deficit has reduced. mﬁmqm&ﬁwwmﬁmw%i
Which is correct ? E L7
(A) absolutely correct reason. (A) W’{Jiﬁ: qE R
(B) Partially correct because the (B) =nifvrer @l € Fifw wwr s =i
Government has controlled the frfsa =t &)
imports.
(C) Government has increased its (C) wR A fafd § ot & gfg #1 )
exports rapidly.
(D) None of these (D) T A W
34. Given that Marginal Propensity to 34, 3f¥tara 3usim wafe 0.6 & vd diarm s
Consume (MPC)=0.6 and Marginal 934 0.2 & & Fafa o =1 5o 0
Propensity to Import (MPM)=0.2, the
value of export multiplier is :
(A) 1.25 (A) 1.25
(B) 1.67 B) 1.67
(C) 2.50 (©) 250
(D) 2.00 (D) 2.00
SPACE FOR ROUGH WORK / 7% &1 & fog sme
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35.

36.

37.

Identify the true indicator of economic
growth.

(A) Rise in GDP at constant prices.

(B) Rise in GDP at current prices.

(C) Continuous rise in real per capita
income.

(D) GDP rising at a higher rate than the
population growth rate.

Swavalamban scheme is related to :
(A) Employment

(B) Pension

(C) Small industry

(D) Food production

In a competitive commodity market, MRP

would be and shall normally

(A) MPP x MR, decline from left to right

(B) MPP X TR, rise from left to right

(C) MPPXx MR, straight line parallel to
Y-axis

(D) MPP X MR, straight line parallel to
X-axis

35.

36.

37.

s 3fg # A& Ta% Tead |

(A) STeR el T T e] 39 (GDP)
H g

(B) SEHM HEEl W S W] IR (GDP)
H ofe

(C) drafaes wfa == o § waq 33

(D) ~FEEN gfg | sfue T W TE W
FEl § 9|

‘e AT et §
(A) T=TRH

B) frafe-aa @

(C) v d

(D) W@ IR o

T T g% dSR § MRP i
sit gmr=E: T g

(A) MPPx MR, a1d § =ifed &1 377 ghal
T

(B) MPPx TR, drd & gifed =i i e &

(C) MPPxMR, Y-37& %l HHMIG W
@ ¥ wa

(D) MPPxMR, X-3& &I GAMR ¥
@ EA e

SPACE FOR ROUGH WORK / T% & & ford sg
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38. Linear programming is a problem of
optimization under :

(A) Perfect competition

(B) Oligopoly

(C) Many linear constraints
(D) Non-linear constraints

39. In Linear Programming Problems,
Objective function and Constraints are :

(A) Solved
(B) Linear
(C) Quadratic

(D) Non-linear

40. Who wrote the famous article “The market
for Lemons” ?

(A) Joseph Stiglitz
(B) Michael Spence
(€) George Akerlof
(D) Rothschild

41. India’s position in world’s agriculture

38.

39.

40]

41.

e s srqgems Ft guen § fre &
H=md ¢

(4)
(B)
©
(D)

gui it

B IEE T Eard:]
% g Hmsi §
g diarei §

T faw dfan g § vy werd a.
HrHad € -

(A)
(B)
(©)
(D)

FHIH
faz
fgerta
-

g o ' T urhe B o e feran

%7
(A)
(B)

©)
(D)

S fenfazs
frdter s
STt TehTelth
qeamEes

A qHeR A=l & we | wmfew iy 3§

with reference to coarse grains is : I T TE
(A) Third (A) &
(B) Second (B) T&W
(C) Fourth (C) =wen
(D) First (D) wgeen
SPACE FOR ROUGH WORK / 7% &1 % f&d wme
Set - A 16 9210/TFU-ECO/ELG-II



42.

43.

44.

45.

A situation where one party to a  42.

transaction has better information than
the other party is called :

(A) Imperfect Information
(B) Perfect Information
(C) Symmetric Information

(D) Asymmetric Information

In Leontief Input-output model the  43.

solution to X - output matrix is given by :
(A) (@+A)"'F

(B) (-A)"'F

(C) l=AR

(D) (I-A)F

What is the nature of time path in the  44.

equation Y, =3'+17?

(A) Oscillatory and divergent

(B) Oscillatory and convergent
(C) Non-oscillatory and divergent

(D) Non-oscillatory and convergent

Which measurement of money supply is ~ 45.

used by RBI for policy-forming ?
(A) M,
(B) M,
© M,
(D) M,

7 oo el TF U H TR G, T
qay & 3T T 8, A ¢

(A) Sl g
(B) O F=T
(C) §uEY g
(D) FTETEd

ferids FTgE-3Seye Hiedd H X HSTYE
Hfeam 1 gHYE §

(A) (I+A)"'F
(B) (I-A)"'F
(C) ([-AF
(D) (I—A)*F

e Y, =3t+1 § TG T H T
il :

(A) e AR fo=em
(B) wreM iR st
(©) g 3in fa=em
(D) R e AR A

urdg fied ¥ & g ifa-feim % fag
TRy 3 fer =9 =1 v fn St €2

(A) T, TR
(B) A, FEYd
(C) T, FANM
(D) T,

SPACE FOR ROUGH WORK / T% &4 & fod s
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46. Write in sequence as per their 46. THFT T A= w9 F wq9R fafed |
establishment.

(i) Corporate Securities Market () e gfavfa SER
(i) National Stock Exchange (i) FYAS WiH TEHES
(iii) SEBI (iii) Gt

(iv) Bombay Stock Exchange (iv) =T WiE TEE
Code : e :

(A) (i), (iv), (i), (i) (A) (i), (iv), (i), (i)

(B) (i), (id), (i), (iv) (B) (i), (i), (iii), (iv)
(©) (i), (i), (i), (i) () (iv), (iii), (i), (ii)
(D) (i), (@), (i), (iv) (D) (i), (i), (iid), (iv)

47. If the value of p is very small and the 47. 3G p % 9 @gd & FH € 3N n & 9F
value of n is substantially large, then the AT B O ITgad WIS s24 2
suitable Probability Distribution will be :

(A) Binomial (A) fgug

(B) Poisson (B) @A

(C) Normal (C) WM

(D) None of the above (D) 39iFa H | FE 7

48. If the fiscal deficit of a government in one 48. I TF 76 H WHN F1 GFHa THMF T2
year is T 7,00,000 crore, Revenue deficit % 7,00,000 g, US4 =1=1 ¥ 3,50,000 FIS
is ¥ 3,50,000 crore, and interest payment Ul = T T 2,80,000 FAE €, G 39
is T 2,80,000 crore, than what is the Y4 TR H TIHF = == e ?
primary deficit of government in that
year ?

(A) ¥ 10,50,000 crore (A) ¥ 10,50,000 FIE
(B) ¥ 70,000 crore (B) T 70,000 Fg
(C) T 4,20,000 crore (C) T 4,20,000 FUS
(D) ¥ 3,50,000 crore (D) ¥ 3,50,000 F=
SPACE FOR ROUGH WORK / 7% &1d & ford e
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49,

50.

51.

Which of the following would be  49.

excluded from GDP of 2015 ?

(A) The value of Lawyer’s Services

(B) Sale of shares in the Secondary
Market

(C) Sale of a Car made in Japan

(D) Interest Earned on F.D.

The concept of sustainable development 50.

was first given by :
(A) Brundtland
(B) Kindleberger

(C) Raul Prebisch

(D) Keynes

Balanced Budget Multiplier is : 51.
(&) AY=—-4G+ & AT

i ﬁG:-_Cé’d.T

@ sl

(D) None of these

= F @ %1 2015 1 GDP #7101 | 9T
T ?

(A) UF =ehied =it Yais 1 gem
(B) fedfta amm # 9w =7 fasht

(C) < # fafta %R =t fant
(D) T ST R =S HI FAR

yroig fasm wdwem e g wfaorfea
e T 2

(A) =TS
(B) fehemait
(C) W« Afaw
(D) =+

‘Hﬂﬁfﬁmw%

), A

AG+C/AT

L e e

(D) T8 | FE Tl

SPACE FOR ROUGH WORK / T% &Td & f&d =78
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52.  Write in sequence as per their declaration 52, W@ WYHR F1 Srewn ¥ TR T FH A
by the Govt. of India. fafam .
()  Liquidity Adjustment Facility (i) e TR gfaa (LAF)
(i) Market Stabilization Scheme (i) =TS feerdiepTo dsmr (Mss)
(iii) Repo Rate and Reverse Repo Rate (i) = vd v fd =
(iv) Marginal Standing Facility (iv) Hiwia =f=n gfas
Code : L T
(A) (i), (iid), (i), (iv) (A) (D), (i), (i), (iv)
(B) (i), (id), (iv), (i) (B) (i), (ii), (iv), (i)
(©  (Gii), (@), (i), (iv) (©) (i), (i), (i), (iv)
(D) £, (i), (iv), (ii) (D) (), (i), (iv), (ii)
53. Ifey== and e =0 than incidence of tax 53, AL ey =0 T e =0 & HT R & ;
will be on :
(A) All tax will be paid by consumer/ (A) HYof R Sar g2
buyer
(B)  All tax will be paid by seller (B) wequf wR fashan w w2
(C) Partial tax will be bear by consumer (C) 3Tif¥I YR e d fahar W T =9
and seller equally 4
(D) None of these (D) 99 | #iE TE
54. Keynse’s Multiplier is : 54. HH U E
(A) Employment Multiplier (A) TSFTR 7[R
(B) Investment Multiplier (B) a1 o
(C) Foreign Trade Multiplier (C) foceh =mr 1o
(D) Tax Multiplier (D) FR-TF
SPACE FOR ROUGH WORK / 1% %14 % forg v
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55. Match the following :
(a) Rajneesh Kumar (i) Governor of RBI

(b) Krishna Murti (ii) Chairman,

Subramaniyam NABARD

(c) HK. Bhanwala (iii) Economic Advisor
of Govt. of India

(d) Shashikant Das (iv) Chairman of SBI

Code :

(@ () (@ @
(A) @) @G @ @
(@) G) @
(iii) (i)
(iv) ()

(B) ()
€) @@ @
(D) @) (@)

56. A country’s openness to International
trade can be measured by the formula :

(A) Exports +Imports + GDP
(B) Exports —Imports — GDP
(C) (Exports+ Imports) X GDP

(Exports + Imports)
(D) GDP

55. et =i = HIT :
(a) ToHTE FAR () SR, TR

(b) Foomfd gomuaH (i) 7Y, AETE

(c) Ta.F. WHara (i) A §RN ED

i Hemeehi
(d) refeRIa & (iv) B2 & A e
F A
'Gh??:

@ (b (© (@
(A) @) @) @ @)
B) (v) @) @ O
© @) @ @) @)
O @ @ @v) G

56. am@wwﬁﬁ%w%@wﬁ
ﬁ'ﬁﬁ"lmlﬁ'ﬂmw%:

(A) Frae+ ST + TehEl R, IR
(B) frrid — T — et e I
(©) (Frrfa + 3) x Fehet wie] IS

(et + 27 )
(P) yaper witeg 5o

SPACE FOR ROUGH WORK / T® w18 & o sE
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57.  Balanced Development suggests : 57. wgfem fasm gfaa w3 € .
(A) equal distribution of resources to all (A) |t &5 % forw Bl =1 g9 fasrem
sectors.
(B)  all sectors growing at their natural (B) W & AW wwifaw gfg o W
growth rates. s & wE
(C) simultaneous development of all (C) =it nfafaferl =1 wom wemm @
activities supporting each other. THHTE |
(D) equal sustainable growth rate. (D) w9H 9@+ gfg e
58. Which of the following estimation  58. 9 WHiww wiew § sy Tw
techniques are available for the estimation & sifsert | B W sifwem # fafy ELEEA
of over identified system of simultaneous Bt 2
equations model ?
(A) OLS (A) OLS
(B) ILS (B) ILS
(C) 2SLS (©) 28Ls
(D) 3SLS (D) 3SLS
59.  What was the first year in which property ~ 59. TWa1 %% YRa § veelt 91 frg 96 SIRER]
tax was introduced in India ? T a1 ?
(A) 1948 (A) 1948
(B) 1957 (B) 1957
(C) 1976 (C) 1976
(D) 1991 (D) 1991
SPACE FOR ROUGH WORK / T% &d & s wmg
Set - A 9210/ TFU-ECO/ELG-II



60.

61.

Which of the following is not the
assumption of the Theory of Games ?

(A)

(B)

©

(D)

There are finite sets of strategies
available to players.

The players are aware of strategies
available to them and their

competitors.

The players are intelligent and
rational.

There are infinite sets of strategies
available to players.

The second stage of production

represents :

(A)

(B)

©

(D)

TP rising slowly and corresponding
MP declining but positive

TP falling and corresponding MP
negative
and

TP rising rapidly

corresponding MP falling

TP initially rising and then falling,
while corresponding MP is negative

60. Frel § 4 = o O Fa %1 FHed 18 § 2

61.

(A)

(B)

(©)

(D)

fammtedi % Hifta aue Ft g
gl

st 37 3R ST faeaefai i
firerl ol o STas & AR H SEs
W€l

faare Sfgam i ofi @ 2

fgenfedi 1 srifim |ge 1 gfeaar
WA E |

ITE &1 fedig sraeen <9iar ¥

(A)

(B)

©

(D)

TP % 7ifa ¥ wea & iR 76 A7EY
MP = #1 o7 gehal 8, UG AT
WA

TP fean st 39& &Y MP
FOTIHS &l € |

TP it | =ga1 & &R 39 T MP
i g

TP R § wgal € 3K 9% # e €,
9 THF FTET MP HHSF T&dl ¢ |
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62. Match the following : 62,

(a) Repo Rate (i) 6.0%
(b) Reverse Repo Rate (i) 5.75%
() Marginal Standing  (iii) 4%
Facility
(d) Cash Reserve Ratio (iv) 5.5%
Code :
@ ® (o (@
B) @ @) () @)
B @ @ G 6
© @v) @) @ @
D) @) (v) @ 6

63. Equation of Harrod model is : 63.

S;=Sy,(Demand side)

=gy~ Y1) (Supply side)

then to establish equilibrium in the
economy S/ g should be equal to :

Yi-1—Wt
(A) Yy

Y1~V
(B) Y1 =Y
Yi — Vi
(@) s
Yi

(®) Yi-1= Yt

=1 F #a Fifem

(a) fa@i¥e @ 6.0%
(b) feeim Rt 2 (i) 5.75%
(c) wmia=wfEngfam (i) 4%

(d) g FY SFUE (iv) 5.5%
&
(@ (b) (e (d)
(A) @) (v) () (i)
(B) () (i) (iv) ()
€ Gv) @) @ @)
(D) @) (v) @) ()

e Afea =1 Tt 8 -

S, =Sy, (AT qa1)

Itﬂg(yt_yi—l){-iﬁ q8)

I sreferareen H W g9 % fod 5/ g e
B =Ry

Yeed =W
(A) ”
Y1~
&) Ve — Y

Y~V
(©) i

Y
Vi1 =¥

(D)

SPACE FOR ROUGH WORK / % &4 & fo wme
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64.

65.

66.

A competitive firm faces Price of T 706
and Total Cost as 7Q?+6Q+5, what
would be profit maximizing output ?

(A) Q=70
(B) Q=50
(C) Q=700

(D) Q=120

The trough of a business cycle occurs
hits its lowest points.

when

(A) Inflation
(B) The Money Supply

(C) Aggregate Economic Activity

(D) The Unemployment Rate

Following the Raghavan Committee
Report, the Government of India passed
an Act in to establish

(A) 2002, SEBI
(B) 2007, NITI Aayog
(C) 2002, Competition Commission

(D) 2000, Competition Commission

64.

65.

66.

uF wiEntt v % fod 9o T 706 € 90 Fel
AN e 7Q2 + 6Q+ 5 B a oy fuswman
IAE T & ?

(A) Q=70
(B) Q=50
() Q=700

(D) Q=120

UF H|MNR 9% HT Td 99 ga & w9
= g A woEm

(A) wFIfa

(B) HE = ufd

(C) wm i forand
(D) ST &

TEEd FHAT 1 G 3 T H R TFN
El #1 ®gr9T1 & fau o9

% uw wfutem R e R
(A) Hsit, 2002

(B) ifa s, 2007

(C) hiffes™ =HH9F, 2002

(D) wwifgfey HfEwH, 2000
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67. Assertion : 67. iy :
As per Phillips Curve, there is inverse fhfeTl ash & TR SOl &1 ot ug
relationship  between rate of et A gt & o4 fawda ey g
unemployment and increasing rate of 4
Monetary Wage Rate.
Reasoning : RIT :
When demand for labour is more and Tl 9 i AT e & S e 5
unemployment is very low, the wage rate Heigdl <X st § s et 8
increases very sharply.
(A) Absolute interpretation of (A) SO <X uS Heigdl =X F ot Hay
the  relationship  between qof fergeraur 7
unemployment and wage rate.
(B) Partial interpretation. (B) &Fifyreh farveram &)
(C) Short period analysis. (C) eregsrei farversor &)
(D) No interpretation of the statement. (D) fyem =1 #1E =arem T8 @ )
68. A tax of 15 per cent on an imported item  68. W T a5 % Yeu W 15 whwE @
is an example of : T T 9T WeE €
(A) Ad valorem tariff (A) WEIIER WeH
(B) Specific tariff (B) favy wye=
(C) Effective tariff (C) W= WYeh
(D) None of the above (D) W d § S5 78
69.  What are the forms of assistance that the 69. fava &% 97 Teedi = frm v o REIRG
World Bank provides to its members ? Y& HTA & ?
(A) Technical and Financial (A) TRt iR oy
(B) Political and Financial (B) o @i fasda
(C) Political and Economic (C) TsHIfa® 3R anfefer
(D) None of the above (D) T H ® HE A8
SPACE FOR ROUGH WORK / 7% &/ & fod wrmg
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70.

71.

72,

Assertion (A) : Green revolution has
widened the regional disparities in terms
of agricultural development.

Reason (R) : Agricultural resources are
unevenly endowed among different
regions in India.

Code :

(A) Both (A) and (R) are individually
true and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are individually
true and (R) is not the correct
explanation of (A).

(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

The slope of Transformation Curve is
given by

(A) MRTyy

(B) MRS,y

(C) MRTS;k

(D) None of the above

The set O of odd positive integer less than
10 can be expressed as :

(A) (1,29

B 135779
© L357
(D) (1,357 11)

70.

71.

72.

atframer (A) : efta wifa 3 anfla srmm
+1 i fawmm & v F fawga foeon 71

THEOT (R) : FiF Faeft i H SwHE T
¥ ura F fafay el o waie R

(A) (A) 3R (R) 3T Fafems &9 & 94 €
T (R), (A) Ff HEl AR € |

(B) (A) ¥R (R) S Fafemes &9 & & €
TS (R), (A) Fi W& =0 TE 2

(C) (A) T ¥, 5 (R) 15F €|
(D) (A) 3199 ¥, T (R) T ¥

T d56 1 e fEar o ¥

(A) MRTyy
(B) MRS,y

(C) MRTSy
(D) TR H & Y

10 ¥ %9 fau s s ois # §2 O 51
e o s wa €

(A) (1.273)
B) (13,579
© (13,57
(D) (1,35, 7 11)
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78.

74,

MSMEs are granted loan on concessional
rate of interest so they may develop and
expand rapidly.

Reasoning : More employment may be
created at low capital.

(A) The policy is right to create more
jobs at low capital.

(B) Non-recovery of loan is a problem -
hence, it is not correct policy.

(C) (A) is partially right.

(D) (A) and (B) both are partially
correct.

Ricardo suggested which of the following
policies for economic growth ?

(A) government intervention in
economic matters

(B) Free Trade
(C) Population growth to be controlled
(D) Competition to be regulated

73.

74.

MSMEs %1 famedt = &t . s @i

o sman & s 3 vitw faefia o foaw

F S |

HIOT : FH Yt F sifersh TSR &1 go @

T |

(A) F4 9t W IR g9 ¥ fau i
e

(B) Y =i YAwifa &l @ U e &
T o 77 @@t Aifr 7 &

(C) (A) iferr &9 § &t &)
(D) (A) 3R (B) 3l sifes w9 & wdt §

i §fg & fore feref 3 frem Hifa =
e faam o ?

(A) 3nfds amEl ¥ aR #1 Twmeay

(B) W& =ATIR
(©) “Heen | & @ 3fs 1 et wo
(D) iyl =+t frifsa s

75. The income earned by an Indian on its 75. U&F 9RAE g o7afiET o fpu 1 fEw w
investment in USA represents : #fSia a7
(A) Current account of India’s BOP. (A) YRE % T ¥ % = W@ 5 e
T
(B) Capital account of India’s BOP, (B) A% sy 9 F It w@m 1 fewr
il
(C) The official settlement account of (C) w@feR & ymam 9w ¥ awr &
USA’s BOP. @ Fl femm ¥
(D) None of the above (D) 39l ¥ | FE 78
SPACE FOR ROUGH WORK / 1% &4 &% fodl wmre
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70,

77.

(@) Amittab Kant

If OLS is applied separately to each
equations of a simultaneous equations
model. The resulting estimates will be :

(A) Unbiased
(B) Biased but Consistent
(©

(D) Consistent

Biased and Inconsistent

Match the following :

(i) Chairman, Prime
Minister Economic
Advisory Council

(b) N.K. Singh (ii) Vice Chairman,
NITI Aayog

(c) Rajeev Kumar (i) Chairman, 15t
Finance
Commission

(d) Bibek Debroy

(iv) CEO, NITI Aayog

Codes :

(@ (b) (9 (d)
(A) @) @) @) )
(B) (@v) @) @ @
© (v) (u) (@) ()
(D) (@) (v) @) @@

76.

77.

(a) AfHamE
Hid

(b) T,
fag

(c) TSI FHR

Iy T Hed F TAE SO W/
T | OLS &N T W, Fieherd el :

(A) froas

(B) TR Ry FHT
(C) W& SR SFET
(D) o™

gHfera e :

(i) AT, QY
anfeish Hemahi
RIELE

(ii) STeaE, Hifq swEr

(iii) 3Te7ed, 15 & faa
&

(d) Tasrs T (iv) w0, Fifd s

T

@ (b (o (d)
(A) @ @ @ @)
(B (v) @) @ @
© Gv) (@) @@ @
(D) (i) (v) @@ @
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78. In measurement of economic 78. ¥f¥® faFm & AwE H ''siE @ difew
development the value of “Physical TOTe FEhik (PQLI) "' %1 ¥ Bl ® -
Quality of Life Index (PQLI)” lies

between :
(A) 0 to 100 (A) 09100 % 77
(B) Otol (B) 0H1%F uem
(C) -1to1l (C) -1¥1% e
(D) 0 to 1000 (D) 091000 % 7
79. Money Multiplier is determined by : 79. He1 e TAuie e s #
() H (High Powered Money) (i) <= Wi =l 921 (H) 81
(i) Cr (Cash Ratio of People) (ii) S Sl ST I (Cr) T
(iii) RRr (Required Reserve Ratio) (i) A=Y = I (RRr) g0
(iv) ERr (Excess Reserve Ratio) (iv) sfafea fisd st (ERr) s/1
Code : %
(A) (i), (i), (iii) and (iv) (A) (@), (), (i) 3 (iv)
(B) (i), (i), (i) (B) (i), (i), (iii)
(©) (i), (i), (iv) © (i), (i), (iv)
(D) (i), (iv) (D) (i), (iv)

80. Fiscal Policy will be most effective when:  80. it Hifq Faffis wymaeme et & 54 :

(A) The slope of IS curve is zero and (A) IS IE=T = Fel YA a4 LM ST
slope of LM curve is more than zero. = @Tel I 9 At 2 7

(B) The slope of IS curve is zero and the (B) IS THH= 1 =1 Y= a4 LM ST
slope of LM curve is infinity. 1 T A B B

(C) Slope of both IS and LM curve lies (C) I1s@em LM SHI sgf=ai &1 =t =
between more than zero and less ¥ fosk a9 o9 9 #9 ga1 £
than infinity.

(D) Slope of IS curve lies between more (D) IS A=t #1 & Y2 9 Afaw qen
than zero and less than infinity and ¥ H F9 TE LM ST I e
slope of LM curve is zero. Y % 9UE B ¥

SPACE FOR ROUGH WORK / 7% @14 & fad s
Set - A 30 9210/TFU-ECO/ELG-II



81.

82.

Which one of the following is the correct
order to measurement the economic
development ?

(A) PQLIL Basic Need Approach, HDI,
PEP

(B) Basic Need Approach, PQLI, HDIL
PPP

(C) Basic Need Approach, PQLI, PPP,
HDI

(D) PPP, Basic Need Approach, PQLI,
HDI

If one has to draw a linear supply curve
showing unitary elasticity throughout, it
shall be

(A) a straight line originating from
Y-axis.

(B) a straight line originating from
X-axis.

(C) a straight line of 45° starting from
the origin of the graph.

(D) a straight line of any angle starting
from origin of the graph.

81.

82.

aTifefer ferehre o Ga=h! & WA 1 GE FA
:

(A) Stem F1 ifas qoEen e,
AMURYA HTEvEIHd YANH, HHE
TorerT Gerehich, FAvTa wal fafy

(B) SR STETAHA FrTH, e
"ifass o frdwes, wa o
gusiE, FHave g9a fafy

(C) STURNT SEvashal YA, Sfa 1
Hifees o Fdwis, swEwfe A
fafy, #ra fawr gasi+

(D) waufe wwar fafy, srumya
HAEIHHA FeATTH, SfEaa w1 Hifas

afe W =t e Tl 9% sehres Foared
T = W Eiaa g, g e

(A) T it T Y-314 § I 2l )
(B) T HrHlt Yam X-39&1 § H 2l ¢
(C) T 45° % Tt o W% % I w=H

W AR Bt

(D) T % ITH TUH W B o1l fhat
] 1 U i
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83. The Chairman of a public sector bank in 83.

India is selected by

(A)
(B)

(€)

(D)

84. An expansionary Monetary Policy and  84.

Reserve Bank of India
Ministry of Finance

Board of Directors of the concerned
bank

Bank Board Bureau

Fiscal Policy Shifts :

(A)
(B)
(€)

(D)

85. “Catch-up hypothesis”

Aggregate demand to the right
Aggregate demand to the left
Aggregate supply to the right

Aggregate supply to the left

has

been 85.

R H FESI &% 95 % emet F1 g
B I W &

(A) yreTE ford S
(B) Tam Harerm

(C) wafua 3% & Frws Hea

(D) &% € =0

fereafaa wifasr aen TerRifoa =fifd foree
g
(A) |ET H H oE AR
(B) § WU HIM & 78 3R
(C) wwu yfd =i 2 iR
(D) w7 gfd =i & sir

“F9-319 ftwern’’ =1 ufaures few

introduced by which economist ? sy g e mn ?
(A) Dennison (A) 2
(B) Paul Romar (B) e T
(C) Moses Abramovitz (C) WSSl stamHIfaes
(D) Weblen (D) e
SPACE FOR ROUGH WORK / T% &1 & g wimig
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86.

87.

88.

Second differencing in time series can 86.

help to eliminate which trend ?
(A) Quadratic Trend

(B) Log Linear Trend

(C) Linear Trend

(D) None of the above

In a closed Economy, the Marginal  87.

Propensity to save and tax rate increases.
What effect will this have on multiplier ?

(A) Increases
(B) No change
(C) Decreases

(D) Negative

A researcher wants to study whether a 88.

two-wheeler buyer would buy a “Nano”
Car ? The selected sample in this case
would primarily consist of :

(A) Nano Dealers
(B) Two-wheeler Dealers -
(C) Two-wheeler Owners

(D) Nano Car Owners

e Avfl # gud favesma frg wafa 1 @
FH H HeE W gEHd 2

(A) fgum wgfa

(B) @ e wfa
(©) e ggfa

(D) W H 9§ #E 8

TF < Adorged | 99d @ wgha
T F W H FE I W, TIF W g9
& ?

(A) dfs
(B) I ST T
(C) I

(D) RS

T Y4eheil I8 S <@a § 5 51 Snfear
Giegr " FR G w2 Tm vy o
aﬂﬁﬁﬁ@hﬁg@ﬁ#ﬁlﬁlﬁﬁ:

(A) 1 ger

(B) <fen Sew
(Q) = wfem mfers
(D) ¥ #R Tifew
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89. Production function Q=AK“LP, the  89.

marginal product of labour (L) can be

Q= AK“LP Iq1e Fe | 49 (L) 1 Hiaw
T ferman = wehm #

written as :
(A) AgKoLB-1 (A) AaKeLB~1
2 &
B e /) el
@ 67 © B3
O (@+B)3 0 (a+p)3
90. Arrange the region of Asia in decreasing ~ 90. 9 2016-17 % WA % AWM o ufyrn & &=
order as per India’s imports in 2016-17. I H2d % § Fafd it |
- (a) South Asia (a) sfego i
(b) ASEAN (b) fEEE
(c) North East Asia (c) < gE uf¥En
(d) West Asia (d) ufe=m ufeEn
Code : T b
(A)  (©), (d), (b). (a) (A)  (c), (d), (b). ()
(B) (a), (b), (c), (d) (B) (@), (b). (c). (d)
(€)  (d), (). (b), (a) (©) (d) (©) (). (2)
(D) (b). (), (d), (@) - (D) (®), (9. (d). (a)
SPACE FOR ROUGH WORK / 7% &4 & fod s
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51.

02.

93.

If a qualitative variable has “C”
categories, how many dummy variables
must be created and used in the
regression analysis ?

(A) C-1
B €
[€) €+1

oy €-2

Which economist has given the micro
theory of income distribution ?

(A) Kaldor
(B) Mahalnobis
(C) J. Mead

(D) Rosenstein Rodan

Arbitrageur in foreign exchange market :

(A) attempts to make profit by
outguessing the markets.

(B) make their profits through the
spread between bid and offer rate.

small

(C) take
inconsistencies

advantage of
that develop

between markets.

(D) need foreign exchange for buying
foreign goods.

91.

92,

93.

Ife Tomers =R H “C” forEl €, 9 gmaEE
Tergerermn § farat it =1 o 98 iR syam
F E 2

(A) =1
(B) C
(& O

B g

A famm 1 wafe fagia faa st
FAE?

(A) SR
(B) weleHIfaa
(©) .#
(D) T =M

ez fadeh qe1 am=m H
(A) TR F1 9 B &9 FE £

(B) forg sir e i & o9 wom & &y
FAM T

(C) ==/l & =9 fawfag 89 e 3@
Teremfeat =1 =19 39 21

(D) faeeft sqd e & fo foeft gz
F AFITH Bt 21
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94,

95.

Sex ratio as per 2011 Census in India is :

(A) 940
(B) 932
(C) 914

(D) 1084

Assertion : Reserve Bank of India declares
Repo Rate and Reverse Repo Rate to
control the inflation under Liquidity
Adjustment Facility (LDF).

Reasoning : Additional quantity of
liquidity is issued through Repo Rate and
liquidity is returned back through Reverse
Rate.

(A) It is effective monetary instrument
to control inflation.

(B) It is effective monetary instrument
for granting loans to customers by
banks.

(C) (A) and (B) both are correct.

(D) Only (B) is correct.

94.

95.

2011 3 SAITUHI 3 STER, W | e srqama
%

(A) 940
(B) 932
(C) 914

(D) 1084

sty : fisE &% foa =@ vE faes fon
T2 F HEUT FEe qHERE gia & g
qerewifa T e w1 & fore &3 2

=T : T 7 % g sifefem o s
Fr & AR wfaem {9 & F g/ wa@ Fi
a9 forzn s €

(A) TeEreita =i e w0 @ gaEErt
A% T4 F |

(B) H% % gRI Ui *l | Wihd H
T WTEIEA HYA F
() (A) 3R (B) Sl wet ¥

(D) %ae (B) TEl T
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96.

97.

98.

In the context of economic growth,

increase in the capital labor ratio is termed

as :

(A) capital deepening

(B) capital widening

(C) capital consumption

(D) capital substitution

The level of significance in the testing of

Hypothesis is used for :

(A) The probability of Type I Error

(B) The probability of Type II Error

(C) The probability of accepting wrong
Hypothesis

(D) Confidence limit

The standard deviation of two series

A and B is same, but the Arithmetic Mean

of A series is greater than B series. Thus

the co-efficient of variation of A series to

B series will be :

(A) Less

(B) Greater

(C) Equal

(D) None of the above

96.

97.

98.

e 3f & deu #, Yo gw U ¥
g5 =l el 9§

(A) ST T TEQ FE
(B) dsit =t wIfE wE
(C) it = = H
(D) ST =1 e

Ui & g9 o Wiefehar o @ &l
W%:

(A) WIH YR HI qfe H1 wiigwar
(B) faita wehm =1 Ffe =t wifgsan

(C) TeAd YR eaT & THR FI3 F1
R IEET|

(D) foavamdi=a @t

21 ATl A v B % w9 fererer U 9HE &
T A A0t 1 TR W B % Wieg @
#fes §1 31@: A Aot =1 faeem ToniE, B
ﬁﬂ'ﬁaiﬁﬁlﬁﬂ'ﬂ“'ﬁa?ﬁ:

(A) FHEmM
(B) afirss B

(C) sEERT
(D) Wi ¥ & Hg T&

SPACE FOR ROUGH WORK / % &4 & ford g

9210/TFU-ECO/ELG-II

Set- A



99. Which Statement is given by Keynse ?

(a) Employment theory is the theory of
effective demand.

(b) Supply creates its own demand.

(c) Employment can be increased
through wage cut.

(d) Full Employment Equilibrium may
be achieved through increasing
consumption expenditure.

Code :

(A) (@) (b), (). (d)
(B) (a). (b), (c)

(©) (b) (0

(D) ()

100. National Food Security Mission has been

99. FHFEU A FYT FATAE?

(a) T 1 fagta, werEgel Hin %1 fagia
gl

(b) et sroet HiT # goE = Fw ¥

(c) WL HE FTh USH H1 H@r S
el 2 |

(d) Ui ISR Hge STE =59 1 F9giEt
I o S ke €1

E T

(A) (a), (b), (c), (d)
(B) (@), (b), (c)

© ()

(D) (a)

100. U @R g fave e 99 9 wiy e

launched from the year : T

(A) 2007-08 (A) 2007-08
(B) 2008-09 (B) 2008-09
(C) 2009-10 (©) 2009-10
(D) None (D) #r =&

-000- -00o0-
SPACE FOR ROUGH WORK / T& &4 & foar s
Set- A 38 9210/TFU-ECO/ELG-I1I



SPACE FOR ROUGH WORK / % & & fod e

9210/TFU-ECO/ELG-II 39 Set - A



SET - A |

maﬁamﬁmw:za‘% atfereram 3k : 200
Time for marking answers : 2 Hours Maximum Marks : 200
M :

1. ww—gﬁaﬁﬁmaﬂﬁew%-mmzaﬁw%smﬁwaﬁmmﬁard%1
5. el ¥ I, § W AT TR-gie (SE-e) | ifera FiToC |

3. oI i T R e

4. ﬁmﬁm#%@amaﬁmq&mﬁﬂHﬁﬂnaﬁﬂ%l

5. 30 uHew Sa-we (sE-Te) 1 WA F g T AR srarEe A /A foed T e S
-1 394 e = faese mﬁq@:ﬂﬁmﬂ?mﬁmaﬁw%aﬁn

Note :

1.  There are 100 objective type questions in this booklet. All questions are compulsory and cary
two marks each.

2. Indicate your answers on the OMR Answer-Sheet provided.
3.  No negative marking will be done.
4. Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-sheet care should be taken so that the Answer-sheet does not get
torn or spoiled due to folds and wrinkles.
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